Filomat 33:17 (2019), 5543–5550 https://doi.org/10.2298/FIL1917543C



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

# Almost Polar Elements in a Ring

# Mete Burak Calci<sup>a</sup>, Huanyin Chen<sup>b</sup>

<sup>a</sup>Tubitak-Bilgem, Kocaeli, Turkey <sup>b</sup>Hangzhou Normal University, Hangzhou, China

**Abstract.** In this paper we define and study a generalized polar elements in a ring. Various characterizations of such elements have explored. The relations between quasipolar and almost polar elements in rings are obtained. Finally, we characterize almost polar elements in a ring by their Drazin-like property.

## 1. Introduction

Suppose *A* is an associative ring with identity 1, and *U*(*A*) denote the set of invertible elements of *A*. The commutant of  $a \in A$  is defined by  $comm(a) = \{x \in A \mid xa = ax\}$ . The double commutant of  $a \in A$  is defined by  $comm^2(a) = \{x \in A \mid xy = yx \text{ for all } y \in comm(a)\}$ . Then an element  $a \in A$  has been defined (Koliha [4]) to be quasinilpotent provided that

$$a \in A^{qnil} = \{a \in A : 1 - comm(a)a \subseteq U(A)\}.$$

When *A* is a complex Banach algebra, then (Harte [3])

$$a \in A^{qnil} \Leftrightarrow \parallel a^n \parallel^{\frac{1}{n}} \mapsto 0 \ (n \mapsto \infty).$$

We define  $a \in A$  to be quasipolar provided that there is a spectral idempotent,  $e^2 = e \in comm^2(a)$  such that

$$a + e \in U(A)$$
, and  $ae \in A^{qnil}$ . (\*)

Equivalently,  $a \in A$  has a Drazin inverse

$$a^{\times} = (a+e)^{-1}(1-e),$$

where  $e = e^2$  is the spectral idempotent of (\*). We shall write QP(A) for the set of  $a \in A$  for which (\*) is valid; following Koliha, we say that the ring A is quasipolar provided that

$$A = QP(A).$$

Keywords. almost polarity; quasipolar property; Drazin-like inverse; Banach algebra

Received: 10 November 2018; Revised: 02 December 2018; Accepted: 29 March 2019

Communicated by Dragana Cvetković Ilić

<sup>2010</sup> Mathematics Subject Classification. Primary 15A09; Secondary 32A65, 16E50

The first author thanks the Scientific and Technological Research Council of Turkey (TUBITAK) for the financial support. The second author was supported by the Natural Science Foundation of Zhejiang Province, China (No.LY17A010018).

Email addresses: mburakcalci@gmail.com (Mete Burak Calci), huanyinchen@aliyun.com (Huanyin Chen)

In the present paper we extend these ideals to almost polar ring elements, where have more general version of spectral idempotent,  $e \in comm^2(a)$  for which

$$e - e^2 \in J(A), a + e \in U(A), \text{ and } ae \in A^{qnil}.$$

Here J(A) is the Jacobson radical of the ring A:

$$J(A) = \{a \in A : 1 - Aa \subseteq U(A)\}.$$
 (\*\*)

We shall call the ring *A* almost polar when every element  $a \in A$  is almost polar in the sense (\*\*). While we make the definition for general rings, we of course prove the theorems for complex Banach algebras.

In Section 2, we shall investigate various characterizations of such elements in a ring. For a Banach algebra, we prove that an element  $a \in A$  is almost polar if and only if there exists r > 0 such that  $\lambda - a \in U(A)$  for all  $0 < |\lambda| < r$  and

$$\begin{aligned} a + \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda &\in U(A), \\ \lim_{n \to \infty} \| (\frac{a}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda)^n \|_n^{\frac{1}{n}} &= 0, \\ \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda - \left( \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda \right)^2 &\in J(A), \end{aligned}$$

where  $\gamma$  is a ({ $\lambda \mid \lambda \mid < r$ }, {0})-cycle.

In Section 3, we are concern with the relations between quasipolar and almost polar elements in a ring. Let *A* be a ring with nil Jacobson radical  $J(A) \subseteq N(A)$ , where N(A) is the set of nilpotent elements of *A*. We prove that *A* is almost polar if and only if *A* is quasipolar.

Recall that an element  $a \in A$  has a generalized Drazin inverse  $b \in A$  if,  $b \in comm^2(a)$ ,  $b = b^2a$ ,  $a - a^2b \in A^{qnil}$ . Finally, in the last section, we prove that a ring A is almost polar if and only if for any  $a \in A$  there exists  $b \in comm^2(a)$  such that

$$b-b^2a \in J(A), a-a^2b \in A^{qnil}.$$

A new characterization of generalized Drazin inverses in a ring is thereby obtained.

Throughout the paper, all rings are associative and Banach algebras are complex with an identity.  $\mathbb{N}$  stands for the set of all natural numbers.

#### 2. Equivalent characterizations

The aim of this section is to explore characterizations of almost polar elements in a ring. As a consequence, we give a new characterization of quasipolar element in Banach algebras by using the function calculus.

**Theorem 2.1.** Let A be a ring, and  $a \in A$ . Then the following are equivalent:

- (1) *a is almost polar*.
- (2) There exists  $e \in comm^2(a)$  such that

$$1 - e \in aAa, e - e^2 \in J(A), ae \in A^{qnil}.$$

*Proof.* (1) ⇒ (2) Let *a* ∈ *A*. Then there exists *e* ∈ *comm*<sup>2</sup>(*a*) such that *u* := *a* + *e* ∈ *U*(*A*) and *ae* ∈ *A*<sup>*qnil*</sup>. Hence,  $au^{-1} + eu^{-1} = 1$ , and so  $au^{-1}(1 - e) = 1 - e - eu^{-1}(1 - e)$ . Likewise,  $(1 - e)u^{-1}a = 1 - e - (1 - e)u^{-1}e$ . Clearly,  $u^{-1} \in comm^{2}(a)$ . Set  $g = e + (1 - e)u^{-1}e$ . Then  $g \in comm^{2}(a)$ ,  $g^{2} - g \in J(A)$  and  $1 - g = au^{-1}(1 - e)$ . Choose f = g(2 - g). Then  $f \in comm^{2}(a)$ ,  $af \in A^{qnil}$ ,  $f - f^{2} \in J(A)$ . Moreover,  $1 - f = (1 - g)^{2} \in aAa$ , as desired.

(2)  $\Rightarrow$  (1) Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that  $e - e^2 \in J(A)$ ,  $1 - e \in aAa$  and  $ae \in A^{qnil}$ . Write 1 - e = ara. Then (a

$$\begin{array}{rcl} a+e)(arara+e) &=& (a+e)((1-e)ra+e) \\ &=& (1-e)^2+ae+(e-e^2)ra+e^2 \\ &=& (1+ae)+(e-e^2)(ra-2) \\ &\in& U(A). \end{array}$$

Similarly,  $(arara + e)(a + e) \in U(A)$ . Accordingly,  $a + e \in U(A)$ , as required.  $\Box$ 

**Corollary 2.2.** *Let A be a ring, and*  $a \in A$ *. Then the following are equivalent:* 

(1) a is almost polar.

(2) There exists  $e \in \operatorname{comm}^2(a)$  such that  $e - e^2 \in J(A)$ ,  $ae \in A^{qnil}$  and  $(1 - ax)(1 - e) \in J(A)$  for some  $x \in \operatorname{comm}^2(a)$ .

*Proof.* (1)  $\Rightarrow$  (2) Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that  $a + e = u \in U(A)$ ,  $ae \in A^{qnil}$  and  $e - e^2 \in J(A)$ . Hence,  $au^{-1} + eu^{-1} = 1$ , and so  $au^{-1}(1-e) = 1 - e - eu^{-1}(1-e)$ . This shows that  $(1-au^{-1})(1-e) = u^{-1}(e-e^2) \in I(A)$ , as desired.

(2)  $\Rightarrow$  (1) Let  $a \in A$ . There exists  $e \in comm^2(a)$  such that  $e - e^2 \in J(A)$ ,  $ae \in A^{qnil}$  and  $w := (1 - ax)(1 - e) \in J(A)$ for some  $x \in comm^2(a)$ . Hence, ax(1-e) = 1-e-w. Let f = e+w. Then  $f \in comm^2(a)$ ,  $f - f^2 \in J(A)$  and  $1-f \in aA \cap Aa$ . Set g = f(2-f). Then  $g \in comm^2(a)$ ,  $g-g^2 = (1-f)(2-f)(f-f^2) \in J(A)$  and  $1-g = (1-f)^2 \in aAa$ . Moreover,  $af = ae + aw \in A^{qnil} + J(A) \subseteq A^{qnil}$ , and so  $ag \in A^{qnil}$  by [2, Theorem 7.4.3]. This completes the

proof, by Theorem 2.1.  $\Box$ 

**Proposition 2.3.** *Let* A *be a ring, and*  $a \in A$ *. Then the following are equivalent:* 

- (1) a is almost polar.
- (2) There exists  $e \in comm^2(a)$  such that  $e e^2 \in J(A)$ ,  $ae \in A^{qnil}$  and  $ua e \in U(A)$  for any  $u \in U(A) \cap comm(a)$ . (3) There exists  $e \in comm^2(a)$  such that  $e e^2 \in J(A)$ ,  $ae \in A^{qnil}$  and  $ua e \in U(A)$  for some  $u \in U(A) \cap comm(a)$ .

*Proof.* (1)  $\Rightarrow$  (2) Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that  $a + e \in U(A), e - e^2 \in J(A), ae \in I(A)$  $A^{qnil}$ . Let  $u \in U(A) \cap comm(a)$ . Since  $ae \in A^{qnil}$ ,  $1 - (ae)u \in U(A)$  and so  $ae - u^{-1} \in U(A)$ . Consider  $b = (ae - u^{-1})^{-1}u^{-1}e + (a + e)^{-1}u^{-1}(1 - e)$ . Then,

> b(ua - e) $= ((ae - u^{-1})^{-1}u^{-1}e + (a + e)^{-1}u^{-1}(1 - e))(ua - e)$  $= (ae - u^{-1})^{-1}u^{-1}e(ua - e) + (a + e)^{-1}u^{-1}(1 - e)(ua - e)$  $= (ae - u^{-1})^{-1}(ae - u^{-1}e^2) + (a + e)^{-1}(1 - e)(a - u^{-1}e)$ = 1 + *j* for some  $j \in J(A)$ ,

as  $e - e^2 \in J(A)$ . Hence  $b(ua - e) \in U(A)$ . Therefore ua - e is left invertible. Similarly, it can be shown that  $(ua - e)b \in U(A)$ . Consequently,  $ua - e \in U(A)$ .

(2)  $\Rightarrow$  (3) This is trivial.

(3)  $\Rightarrow$  (1) Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that

$$e - e^2 \in I(A), ae \in A^{qnil}$$
 and  $ua - e \in U(A)$ 

for some  $u \in U(A) \cap comm(a)$ . Hence  $a - u^{-1}e \in U(A)$ . Since  $(a - u^{-1}e)(1 - e) = a(1 - e) = (1 - e)a$ , we easily check that

$$(1-e)^{2} = a(1-e)(a-u^{-1}e)^{-2}(1-e)a.$$

Set q = e(2 - e). Then  $q \in comm^2(a)$ ,  $q - q^2 = 2e - e^2 - 4e^2 + 4e^3 - e^4 \in J(A)$  and  $1 - q = (1 - e)^2 = aAa$ . In view of [2, Theorem 7.4.3], we see that  $aq = (2 - e)(ae) \in A^{qnil}$ . Therefore *a* is almost polar, by Theorem 2.1.

**Corollary 2.4.** A Banach algebra A is almost polar if and only if for any  $a \in A$  there exists  $e \in comm^2(a)$  such that

$$e - e^2 \in J(A), \lim_{n \to \infty} ||(ae)^n||^{\frac{1}{n}} = 0 \text{ and } a + \alpha e \in U(A)$$

for some  $\alpha \in \mathbb{C}$ .

*Proof.*  $\implies$  This is obvious by choosing  $\alpha = 1$ .

 $\leftarrow$  Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that

$$e - e^2 \in J(A), \lim_{n \to \infty} ||(ae)^n||^{\frac{1}{n}} = 0 \text{ and } a + \alpha e \in U(A)$$

for some  $\alpha \in \mathbb{C}$ . If  $\alpha = 0$ , we choose u = -1. If  $\alpha \neq 0$ , we choose  $u = -\frac{1}{\alpha}$ . By using Proposition 2.3, *A* is almost polar, as asserted.  $\Box$ 

Now we come to the main result of this section.

**Theorem 2.5.** *Let* A *be a Banach algebra, and*  $a \in A$ *. Then the following are equivalent:* 

- (1) a is almost polar.
- (2) There exists r > 0 such that  $\lambda a \in U(A)$  for all  $0 < |\lambda| < r$  and

$$\begin{aligned} a + \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda \in U(A), \\ \lim_{n \to \infty} \| (\frac{a}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda)^n \|^{\frac{1}{n}} &= 0, \\ \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda - \left( \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda \right)^2 \in J(A), \end{aligned}$$

where  $\gamma$  is a ({ $\lambda \mid \lambda \mid < r$ }, {0})-cycle.

*Proof.* (1)  $\Rightarrow$  (2) Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that

$$a + e \in U(A), e - e^2 \in J(A)$$
 and  $ae \in A^{qnil}$ .

For any  $\lambda$  we have

$$\lambda - a = (\lambda - ae)e + (\lambda - (e + a))(1 - e) + w,$$

where  $w = (1 - a)(e^2 - e) \in J(A)$ . Taking  $r = \frac{1}{\|(e+a)^{-1}\|}$ . Then  $\lambda - (e + a) \in U(A)$  if  $|\lambda| < r$ . As  $ae \in A^{qnil}$ , we see that  $\lambda - ae \in U(A)$  for all  $\lambda \neq 0$ .

Clearly,  $\lambda - a \in U(A)$ . Suppose that  $(\lambda - a)v = 1$  for some  $v \in A$ . Then  $((\lambda - ae)e + (\lambda - (e+a))(1-e))v + wv = 1$ ; hence,  $((\lambda - ae)e + (\lambda - (e+a))(1-e))v(1-wv)^{-1} = 1$ . As  $(1-wv)(1-wv)^{-1} = 1$ , we see that  $(1-wv)^{-1} - (1-wv)^{-1}vw = 1$ ; and so  $(1 - wv)^{-1} = 1 + (1 - wv)^{-1}vw$ . We deduce that  $((\lambda - ae)e + (\lambda - (e+a))(1-e))v(1 + (1 - wv)^{-1}vw) = 1$ . This implies that

$$((\lambda - ae)e + (\lambda - (e + a))(1 - e))v$$
  
= 1 - ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v(1 + (1 - wv)^{-1}vw)  
= 1.

Thus

$$\begin{aligned} & ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v \\ &= 1 - ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v \\ &= 1 - ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v \\ &= 1 - ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v(1 - wv)^{-1}vw. \end{aligned}$$

Hence,  $v = ((\lambda - ae)^{-1}e + (\lambda - (e + a))^{-1}(1 - e))(1 - ((\lambda - ae)e + (\lambda - (e + a))(1 - e))v(1 - wv)^{-1}vw)$ . Therefore  $(\lambda - a)^{-1} = (\lambda - ae)^{-1}e + (\lambda - (e + a))^{-1}(1 - e) + s$ ,

where  $s \in A(e^2 - e) \subseteq J(A)$  whenever  $0 < |\lambda| < r$ . Furthermore, we have

$$\frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda$$

$$= \frac{1}{2\pi i} \int_{\gamma} (\lambda - ae)^{-1} e d\lambda + \frac{1}{2\pi i} \int_{\gamma} (\lambda - (e + a))^{-1} (1 - e) d\lambda + t$$

$$= \frac{1}{2\pi i} \int_{\gamma} \sum_{n=0}^{\infty} \lambda^{-n-1} a^n e d\lambda + 0 + t$$

$$= p + t$$

where  $t \in A(e^2 - e) \subseteq J(A)$  and  $\gamma$  is a  $(\{\lambda \mid |\lambda| < r\}, \{0\})$ -cycle. Thus,  $e = \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda - t$  for some  $t \in J(A)$ .

We easily check the preceding conditions in (2) are satisfied.

(2)  $\Rightarrow$  (1) Let  $x \in comm(a)$ . Then ax = xa, and so  $x(\lambda - a)^{-1} = (\lambda - a)^{-1}x$ . Hence,

$$x \cdot \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda = \frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda \cdot x.$$

Hence,  $\frac{1}{2\pi i} \int_{\gamma} (\lambda - a)^{-1} d\lambda \in comm^2(a)$ . Therefore *a* is almost polar.  $\Box$ 

# 3. Strong Lifting

As is well known, idempotents in Banach algebras always lift modulo the Jacobson radical, but idempotents in an almost polar ring might not be liftable modulo its Jacobson radical, we now give the relations between quasipolar and almost polar rings by means of the lifting property. We say that every idempotent strongly lifts modulo J(A) if for any  $a \in A, e \in comm^2(a), e - e^2 \in J(A)$  implies that there exists  $f^2 = f \in comm^2(a)$  such that  $e - f \in J(A)$ . We have

Lemma 3.1. A ring A is quasipolar if and only if

(1) A is almost polar;

(2) Every idempotent strongly lifts modulo J(A).

*Proof.*  $\Longrightarrow$  Clearly, *A* is almost polar. Suppose that  $e - e^2 \in J(A)$  with  $e \in comm^2(a)$ . Since *A* is quasipolar, there exists  $f^2 = f \in comm^2(e)$  such that  $e - f \in U(A)$  and  $ef \in A^{qnil}$ . As  $e \in comm^2(a)$ , we see that ea = ae. Thus ef = fe. Clearly,  $\overline{(e - f)^3} = \overline{e - f}$ ; and so  $\overline{e - f}^2 = \overline{1}$ . Hence,  $\overline{e - 2ef + f} = \overline{1}$ ; hence,  $\overline{e} = \overline{(1 - 2f)(1 - f)} = \overline{1 - f}$ . Therefore  $e - (1 - f) \in J(A)$ . If  $x \in comm(a)$ , then xa = ax; and so ex = xe. This shows that fx = xf, and then (1 - f)x = x(1 - f), i.e.,  $1 - f \in comm^2(a)$ , as desired.

 $\leftarrow$  Let  $a \in A$ . Then there exists  $e \in comm^2(a)$  such that

$$(-a) + e \in U(A), e - e^2 \in J(A) \text{ and } (-a)e \in A^{qnil}$$

By hypothesis, we can find  $f^2 = f \in comm^2(a)$  such that  $e - f \in J(A)$ . Hence  $a - f = (a - e) + (e - f) \in U(A) + J(A) \subseteq U(A)$ . Moreover,  $af = ae + a(f - e) \in A^{qnil} + J(A) \subseteq A^{qnil}$ , as asserted.  $\Box$ 

Lemma 3.2. Every idempotent in a ring strongly lifts modulo any nil ideal.

*Proof.* Let  $I \subseteq N(A)$  be a nil ideal of a ring A. Let  $a \in A$  and  $e \in comm^2(a)$  such that  $e^2 - e \in I$ . As I is a nil ideal, there exists  $n \in \mathbb{N}$  such that  $(e - e^2)^n = e^n(1 - e)^n = 0$ . Since  $(e + (1 - e))^{2n} = 1$ ,

$$1 = \sum_{i=0}^{n} \binom{2n}{i} e^{i} (1-e)^{2n-i} + \sum_{i=n+1}^{2n} \binom{2n}{i} e^{i} (1-e)^{2n-i}$$

Take  $f = \sum_{i=0}^{n} {\binom{2n}{i}} e^{i}(1-e)^{2n-i}$  and g = 1-f. Hence, f + g = 1 and  $f^2 + fg = f$ . Since fg = 0,  $f^2 = f$  is an idempotent such that  $f \in comm^2(a)$ . Also  $g^2 = g \in comm^2(a)$ . It is easy to show that  $e - g \in I$ . Therefore, every idempotent strongly lifts modulo any nil ideal.  $\Box$ 

We now have at our disposal all the information necessary to prove the following.

**Theorem 3.3.** Let A be a ring with nil Jacobson radical. Then the following are equivalent for  $a \in A$ :

(1) a is almost polar.

(2) a is quasipolar.

*Proof.* In view of Lemma 3.2, every idempotent strongly lifts modulo *J*(*A*). Therefore we complete the proof by Lemma 3.1.

Recall that a ring *A* is polar if and only if for any  $a \in A$  there exists  $e^2 = e \in comm^2(a)$  such that  $a - e \in U(A)$  and  $ae \in N(A)$  (see [5]).

**Corollary 3.4.** A ring A is polar if and only if

(1) A is almost polar;

(2)  $A^{qnil} = N(A)$ .

*Proof.* This is obvious, by [1, Theorem 2.6].  $\Box$ 

#### 4. Drazin-like Characterizations

As is well known, an element  $a \in A$  is quasipolar if and only if there exists  $b \in comm^2(a)$  such that  $b = b^2 a, a - a^2 b \in A^{qnil}$ . We now characterize almost polar element in a ring by a kind of Drazin-like property.

**Theorem 4.1.** An element *a* in *a* ring *A* is almost polar if and only if there exists  $b \in \text{comm}^2(a)$  such that

$$b - b^2 a \in I(A), a - a^2 b \in A^{qnil}.$$

*Proof.*  $\implies$  By hypothesis, there exists some  $p \in comm^2(a)$  such that  $a + p \in U(A)$ ,  $p - p^2 \in J(A)$  and  $ap \in A^{qnil}$ . Set  $b = (1 - p)(a + p)^{-1}$ . Then  $b \in comm^2(a)$  and  $b^2a - b \in J(A)$ . Further, we have

$$\begin{array}{rcl} a-a^2b &=& a-a^2(1-p)(a+p)^{-1}\\ &=& (a+p)^{-1}(a(a+p)-a^2(1-p))\\ &=& (a+p)^{-1}(a^2p+ap)\\ &=& (a+p)^{-1}ap(a+1)\in A^{qnil}, \end{array}$$

as desired.

← Let p = 1 - ab. Then  $p \in comm^2(a)$ ,  $p - p^2 \in J(A)$  and a + p = a + 1 - ab. We check that  $(a + 1 - ab)(b + 1 - ab) = 1 + a(1 - ab) - ((-b + b^2a)(1 - a)) = 1 - (a - a^2b) + ((-b + b^2a)(1 - a)) \in U(A)$ , and so  $a + p \in U(A)$ . Additionally,  $ap = a - a^2b \in A^{qnil}$ , as desired.  $\Box$ 

**Corollary 4.2.** *Let* A *be a Banach algebra and*  $a \in A$ *. Then the following are equivalent:* 

- (1) a is almost polar.
- (2) There exists  $b \in comm^2(a)$  such that  $ba (ba)^2 \in J(A)$ ,  $a a^2b \in A^{qnil}$ .

*Proof.* (1)  $\Rightarrow$  (2) Let  $a \in A$ . In view of Theorem 4.1, there exists  $b \in comm^2(a)$  such that

$$b-b^2a \in I(A), a-a^2b \in A^{qnil}$$
.

Then  $ba - (ba)^2 = a(b - b^2 a) \in J(A)$ , as required.

(2)  $\Rightarrow$  (1) Let  $a \in A$ . Then there exists  $b \in comm^2(a)$  such that

$$ba - (ba)^2 \in J(A), a - a^2b \in A^{qnil}.$$

Set c = bab. Then  $c \in comm^2(a)$ . One easily checks that

$$c - c^2 a = bab - (bab)^2 a = (ba - (ba)^2)b + (ba - (ba)^2)bab \in J(A).$$

Moreover,

$$\lim_{n \to \infty} \|(a - a^2 c)^n\|^{\frac{1}{n}} = \lim_{n \to \infty} \|((1 + ab)(a - a^2 b))^n\|^{\frac{1}{n}} = 0.$$

In light of [2, Definition 7.4.1],  $a - a^2 c \in A^{qnil}$ . This completes the proof by Theorem 4.1.

**Corollary 4.3.** Let A be a Banach algebra. Then the following are equivalent:

- (1) A is polar.
- (2) For any  $a \in A$ , there exists  $b \in comm^2(a)$  such that  $b b^2 a, a a^2 b$  are nilpotent.

*Proof.* (1)  $\Rightarrow$  (2) This is obvious by [5, Proposition 4.9].

(2)  $\Rightarrow$  (1) In light of Theorem 4.1, A is almost polar. Let  $a \in A^{qnil}$ . Then  $a - a^2b \in N(A)$  for some  $b \in comm^2(a)$ . Hence,  $a(1 - ab) \in N(A)$ , and so  $a \in N(A)$ , i.e.,  $A^{qnil} = N(A)$ . Therefore A is polar, by Corollary 3.4.  $\Box$ 

We are now ready to prove:

**Theorem 4.4.** Let A be a Banach algebra, and  $a \in A$ . Then a is almost polar if and only if there exists  $b \in \text{comm}^2(a)$  and  $k, m \in \mathbb{N}$  such that

$$b^{k} - b^{k+1}a \in I(A), a^{m} - a^{m+1}b \in A^{qnil}$$

*Proof.*  $\implies$  This is obvious by choosing k = m = 1 in Theorem 4.1.

 $\Leftarrow$  Step 1. m = 1. Let  $a \in A$ . Then there exists  $b \in comm^2(a)$  and  $k \in \mathbb{N}$  such that

$$b^k - b^{k+1}a \in J(A), \lim_{n \to \infty} ||(a - a^2b)^n||^{\frac{1}{n}} = 0.$$

Then  $b^{k-1}(b - b^2 a) \in J(A)$ , and so

$$\begin{array}{rcl} (ba-b^2a^2)^k &=& (b-b^2a)^ka^k\\ &=& (b-b^2a)^{k-1}(b-b^2a)a^k\\ &=& (1-ba)^{k-1}b^{k-1}(b-b^2a)a^k\\ &=& (1-ba)^{k-1}(b^k-b^{k+1}a)a^k\\ &\in& J(A). \end{array}$$

Set p = 1 - ba. Then  $p^k(1 - p)^k \in J(A)$ . One easily checks that

$$1 = (p + (1 - p))^{2k}$$
  
=  $\sum_{i=0}^{k} {2k \choose i} p^{2k-i} (1 - p)^{i} + \sum_{i=k+1}^{2k} {2k \choose i} p^{2k-i} (1 - p)^{i}.$ 

Take  $e = \sum_{i=0}^{k} {\binom{2k}{i}} p^{2k-i}(1-p)^i$  and f = 1-e. Clearly, e + f = 1 and  $ef = fe \in J(A)$ . Thus  $e \in comm^2(p)$  and  $e - e^2 = ef \in J(A)$ . As  $p \in comm^2(a)$ , we have  $e \in comm^2(a)$ . In view of [2, Theorem 7.4.3], we see that

$$ae = \Big(\sum_{i=0}^k \binom{2k}{i} p^{2k-i-1}(1-p)^i\Big)(ap) \in A^{qnil}.$$

Obviously, we have  $(a - 1 + ab)(b - 1 + ab) = 1 - (1 + b)(a - a^2b) - (b - ab^2)$ . Since  $a - a^2b \in A^{qnil}$ , we see that  $1 - (1+b)(a - a^2b) \in U(A)$ . As  $(b - b^2a)^k = (1 - ba)^{k-1}(b^{k-1}(b - b^2a)) \in J(A)$ , we see that  $(1 - (1 + b)(a - a^2b))^k - (b - b^2a)^k \in U(A)$ , and then  $(a - 1 + ab)(b - 1 + ab) \in U(A)$ . That is,  $a - p \in U(A)$ . On the other hand,

$$p - e = p - \sum_{i=0}^{k} {\binom{2k}{i}} p^{2k-i} (1-p)^{i}$$
  
=  $\sum_{i=0}^{2k-2} p^{i} (p-p^{2}) + \sum_{i=1}^{k} {\binom{2k}{i}} p^{2k-i} (1-p)^{i}$   
=  $z(p-p^{2})$ 

for some  $z \in comm^2(p)$ . As  $(p - p^2)^k \in J(A)$ , we have  $(p - e)^k \in J(A)$ . Thus  $(a - p)^k - (e - p)^k \in U(A)$ , and therefore  $a - e = (a - p) - (e - p) \in U(A)$ . Accordingly, *A* is almost polar.

Step 2. Let  $a \in A$ . There exists  $b \in comm^2(a)$  and  $k, m \in \mathbb{N}$  such that  $b^k - b^{k+1}a \in J(A), a^m - a^{m+1}b \in A^{qnil}$ . Hence  $a^{m-1}(a - a^2b) \in A^{qnil}$ , and so  $(a - a^2b)^m \in A^{qnil}$ . Let  $x \in comm(a - a^2b)$ . Then  $x \in comm(a - a^2b)^m$ ; hence,  $1 - (a - a^2b)^m x^m \in U(A)$ . This implies that  $1 - (a - a^2b)x \in U(A)$ . Therefore  $a - a^2b \in A^{qnil}$ . By using Step 1, we see that *a* is almost polar, as asserted.  $\Box$ 

We now derive a new characterization of quasipolar elements in a Banach algebra.

**Corollary 4.5.** Let A be a Banach algebra, and  $a \in A$ . Then a is quipolar if and only if there exists  $b \in comm^2(a)$  and  $k, m \in \mathbb{N}$  such that

$$b^{k} = b^{k+1}a, a^{m} - a^{m+1}b \in A^{qnil}.$$

*Proof.*  $\implies$  This is clear by [5, Theorem 4.2].

← In view of Theorem 4.4, *A* is almost polar. Suppose that  $p - p^2 \in J(A)$  with  $p \in comm^2(a), a \in A$ . As in the proof of Theorem 4.4, there exists an idempotent  $e \in comm^2(p)$  such that  $p - e \in U(A)$ . Hence,  $(p - e)(1 - (p + e)) = (p - e) - (p^2 - e^2) = p - p^2 \in J(A)$ . It follows that  $p - (1 - e) \in J(A)$ . Obviously,  $(1 - e)^2 = 1 - e \in comm^2(a)$ . That is, every idempotent strongly lifts modulo J(A). This completes the proof, by Theorem 3.1.  $\Box$ 

**Acknowledgment:** The authors are grateful to the referee for his/her careful reading and valuable remarks that helped them to improve the presentation of this work tremendously.

## References

- [1] J. Cui, J. Chen, Characterizations of quasipolar rings, Communications in Algebra, 41 (2013) 3207–3217.
- [2] R. Harte, Invertibility and singularity for bounded linear operators, Monographs and Textbooks in Pure and Applied Mathematics, Marcel Dekker, Inc., New York, 1988.
- [3] Q. Huang, G. Tang, Y. Zhou, Quasipolar property of generalized matrix rings, Communications in Algebra, 42(2014) 3883–3894.
- [4] J.J. Koliha, A generalized Drazin inverse, Glasgow Mathematical Journal, 38 (1996) 367-381.
- [5] J.J. Koliha, P. Patricio, Elements of rings with equal spectral idempotents, Journal of Australian Mathematical Society, 72 (2002) 137–152.
- [6] Z. Wang, A class of Drazin inverses in rings, Filomat, 31 (2017) 1781–1789.
- [7] Z. Wang, J. Chen, Pseudo Drazin inverses in associative rings and Banach algebras, Linear Algebra and Its Applications, 437 (2012) 1332–1345.
- [8] Z.L. Ying, J.L. Chen, On quasipolar rings, Algebra Colloqium, 19 (2012) 683-692.